COS 521                      Problem Set 2 Clarification
Fall 2009

1.  There is some ambiguity in the definition of this problem, having to do with the fact that, if each node stores only a bit encoding its rank difference (1 or 2), there is no way for an insertion algorithm to know the rank of the root, and hence no way to know if a newly inserted leaf has rank zero. There are two ways to resolve this, which give two different versions of Problem 1.  The first is to give each new leaf an initial rank difference of zero.  This is what I had in mind when I gave the problem.  The second is to store with the root its rank.  Then one can compute the rank of each node during a search from the root.  A newly inserted leaf can then be given an initial rank equal to the minimum of zero and two less than the rank of its parent. (It cannot be given a smaller rank, for then there would be a node with a rank difference of at least 3 or with negative rank.)  For the first version of the problem I know an 
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example.  For the second version, I know only an 
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example.  You may solve either version of the problem, or both for extra credit.  
I am postponing the due date of Problem Set 2 to next Monday, October 19.

_1316932597.unknown

_1316932969.unknown

